V; =0 wa= 3Im, 6
\/)c =12 s¢°+ @
bt S the (24
| seetmds -
mountuns  spad-dl 12 mfad An 6 seem

seconds. The car travels at a speed for 6.0 seconds. The car then slows to a 'Vn =12

stop in 3.0 seconds. Sketdh the graph of v vs. t for this motion Determine an \/f =0

appropriate scale and label. Use that graph to determine the acceleration and =3 se

distance values for the three sections of the graph. Use those values to sketch .

the d vs. t and a vs. t graphs for the motion. Be sure to number the axes. Ve =v, +at
Velocity vs. Time
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